(53 (Z(2nd Sm.)-Chemistry-GI(GEICC-2)/CBCS )

STRY — GENERAL
- Paper : GE/CC-2

tog give their answers in their own words
fareas practicable.
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[ English Version ]
The figures in the margin indicate full marks.

1. Answer any twenty questions : 1x20
(a) Define extensive properties with examples.
(b) Identify the following as open, closed or isolated system :
(i) Water at 100°C kept in a beaker.
(ii) Sealed bottle of cold drinks.
(¢c) What is an isochoric process?
(d) State Zeroth law of thermodynamics.
(e) Write the condition of spontaneity of a reaction in terms of AG and AH.

(f) What will be the change in internal energy of a thermodynamic system in an isothermal reversible
process?

(g) Write down the relation between K and K, in a chemical reaction in equilibrium.

(h) Ny(g)+ 3Hﬂg)-# 2NH;(g) +92kJ

What will be the effect of temperature in this chemical equilibrium?

(i) Calculate the number of components for the reaction : CaCO3(s) == Ca0(s)+CO,(g)

(j) Write down the mathematical form of the phase rule.

(k) The number of degrees of freedom at triple point of water is zero. — Explain.
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"Mlller indices if Weiss indices of a crystal plane is (1: 1 : o).

culate the number of lattice points per unit cell of Silver (Ag) crystal (f.c.c.).
( dovmj the products for the following reaction :

tion is suitable for the synthesis of alkane having even number of carbon atoms

(i) Oy
(IJ)H 0, Zn —> A+ B

ngst 2 e

| (e;: reagent for the following transformation?
T rCH3CH2CHzBI'

KOH, C,Hs0H _ ,
A o g
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mean mean by least square method?

: 2x15
ion. Explain with example.

ééfs 5etween reversible and irreversible process.

0,1 %?IADH for adiabatic free expansion of an ideal gas.

m§+ gTAn for an ideal gas.

sigmﬁcance of entropy?

am of a reversible Carnot cycle. Indicate various processes in the diagram.
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u (k) Write a short note on Kolbe’s electrolytic method.

When HBr reacts with propene, 2-bromo propane is produced as the major product. — Explain
with mechanism.

Convert : cis-2-Butene — frans-2-Butene

Experimental value of a quantity is 14.75 but its true value is 14.70. Calculate the absolute error
“and relative error.

Perform the addition of two binary numbers (1101) and (1010).
- Write down the Nernst equation of EMF at 30°C temperature.

- Redox titration involving KMnO, as oxidant, requires no redox indicator, — Explain. Name one
'rgt}cxrix_tdicator.-

ard reduction potential of Cu?*/Cu and Ag'/Ag electrode are 0.339 volt and 0.799 volt,
ectively. If Ag is immersed in a CuSO, solution, will it be oxidised?




